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QUESTION 1

An organization is continually changing to maintain customer and market relevant. The changes adopting new
technologies, expanding to new markets, and adjusting the service portfolio. Which is the BEST approach to ensure that
suppliers and partners support these changes? 

A. Technology replacement modernization 

B. Uninterrupted delivery 

C. Sourcing strategy 

D. Organizational resilience 

Correct Answer: C 

A sourcing strategy is about deciding how to acquire and manage the resources and capabilities needed to deliver
services, including suppliers and partners. An organization that is continually changing to maintain customer and market
relevance needs a sourcing strategy that can support these changes by enabling flexibility, agility, innovation and
collaboration with suppliers and partners. References: ITIL 4 Leader: Digital and IT Strategy, page 75-76 

 

QUESTION 2

Which statement is CORRECT about risk management in digital organizations? 

A. All the organization\\'s slaveholders should contribute to risk assessment 

B. All risk management efforts should focus on assets owned by the organization 

C. All risk management should start by assessing the current state 

D. All risks could cause harm to the organization if they are not managed 

Correct Answer: A 

All the organization\\'s stakeholders should contribute to risk assessment because they have different perspectives,
insights, and interests in relation to the organization\\'s objectives, activities, and outcomes. Their involvement can help
identify, analyze, evaluate, and treat risks more effectively and comprehensively. References: ITIL 4 Leader: Digital and
IT Strategy, page 59 

 

QUESTION 3

An organization wants to ensure that all Key stakeholders are aware of the strategic direction and support it. What is the
MOST approach to achieve this? 

A. Deliver compulsory strategic awareness sessions regularly 

B. Ensure there is one common communication channel for the strategy 

C. Utilize metrics to ensure stall comply with the strategy 
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D. Tallor strategic communications to the stakeholders preferences 

Correct Answer: D 

Tailoring strategic communications to the stakeholders\\' preferences is the best approach to ensure that all key
stakeholders are aware of the strategic direction and support it. This means that the organization considers the needs,
expectations, interests, and preferences of different stakeholders when communicating the strategy. This can help
increase stakeholder engagement, understanding, alignment, and buy-in. References: ITIL 4 Leader: Digital and IT
Strategy, page 10-11 

 

QUESTION 4

Which parallel model is based on using the Income generated by an existing business model to fund a new digital
business model until can fund itself? 

A. Cannibalism 

B. Erosion 

C. Concurrence 

D. synergism 

Correct Answer: D 

Synergism is a parallel model that is based on using the income generated by an existing business model to fund a new
digital business model until it can fund itself. It is a way ofbalancing the risks and rewards of innovation and disruption
by creating a synergy between the old and the new business models. References: ITIL 4 Leader: Digital and IT
Strategy, page 39 

 

QUESTION 5

An organization cannot afford the loss that comes from taking risks that go wrong, but they suffer big losses because
they often take these risks anyway. What combination of risk capacity and risk appetite this situation? 

A. Low risk capacity, high risk appetite 

B. High risk capacity, high risk appetite 

C. Low risk capacity, low risk appetite 

D. High risk capacity, low risk appetite 

Correct Answer: A 

A low risk capacity means that an organization cannot afford the loss that comes from taking risks that go wrong, while a
high risk appetite means that an organization is willing to take those risks anyway. This situation can lead to big losses
and unsustainable outcomes. References: ITIL 4 Leader: Digital and IT Strategy, page 57 
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